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SECTION A [20]

INSTRUCTIONS
USE THE TABLE ON PAGE 3 TO MARK THE LETTER (X) CORRESPONDING TO
THE CORRECT ANSWER. DO YOUR ROUGH WORK ON THE BLANK PAGES.

X
1. The graph of y + 3£nE =0 is represented by

A y“/‘ B Y
«—3 X

%

N

2
The expression \25%  in its simplest form is:

2.
A 25% B 5%
2 :
c 5% D None of the preceding
3. The expression j?\){ is equivalent to:
A logyy B /Inyy
C /ny—¢nx D  None of the preceding
4. The expression (log x —2log y + 1) written as a single term is:
2 2
A log(10x—y B log (10xy
10x
C log (yxj D log| —
100 y2
1-/n(e _
If e (&) ~p* 2, then x is equal to
A 2 B n2

cC 0 D 1
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6. The standard (rectangular ) form of the complex number 2+4-9, is equal to
A 2+3] B 2-3j
C 3+2j D  undefined

7.1 2x— j= (y(j)"+2) then,

A x=-2andy=1 B x=121and y=-1
C x=-2and y=-1 D x=1land y=1

8. tan - (3,1) +sin (cos_1(0,5)) is equal to:

A 72,99 B 212
C 082 D 4,79

9. Given the wave equation, y = 3sin 72'(t — 7r) the shift is equal to:

A 2 B 3,14
C 3 D 1

10. If —esin@ =2 and % <f< 237[ then @ is equal to:
A 0,81 B -3,88
cC 0,74 D 397

1 A B C D

5 A B C D

3. A B C D

4. A B C D

5 A B C D

6. A B C D

7 A B C D

8. A B C D

9, A B C D

10. A B C D
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SECTION B (17)

INSTRUCTIONS

GIVE ONLY THE FINAL SIMPLIFIED ANSWER (CORRECT TO TWO DECIMAL
PLACES WHERE APPLICABLE) IN THE SPACE PROVIDED. DO YOUR ROUGH
WORK ON THE BLANK PAGES.

11. Draw a neat sketch graph of each of the following showing all intercepts with
axes if any:

111 y=X1 ()

112 y=-log, (ij (2)
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12. The graph below is that of a sinusoidal y = a sin(bx + c).
Ya
4

5 83 ,

0,7 \/ »
-4

A

Use it to find:
121 b (2)
1)
122 ¢
123 a 1)
12.4 its equation (1)
13. Solve for Xin each case:
131 5oy @)
13.2  (n(1-x)°=0 2)
14. If the centre angle 6=30" is subtended by an arc of length 6cm in a circle,
then the radius of that circle will be: (2)

15. Evaluate: 3/45°+2[210° (answer in rectangular form): (2)




MAT1YE2 November 2014
-6 -

SECTION C (28)

INSTRUCTIONS

SHOW ALL THE IMPORTANT STEPS AND GIVE YOUR FINAL ANSWERS
CORRECT TO TWO DECIMAL PLACES WHERE APPLICABLE. USE THE LAST
PAGE TO RE-DO ANY QUESTION YOU MAY HAVE CANCELLED.

16. Solve for x:

16.1 3" -3 =3 (4)

162 m(2-x)+m(2+x)=1 4)
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17. Make N the subject of the formula in

r n
A=P 1—) ,
( 100

and hence find its numerical value if A=260; P=300 and r=3,85 (4)
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18.  Accircle with diameter 24 cm is divided into a major and a minor segment
by a chord ABand ZOAB =40".

B

18.1 Calculate the magnitude of angle « in radians. (3)

18.2 Calculate the area of the segment ACB. (2)

18.3 Calculate the area of the shaded part. (2)
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19. Given 7y =-2] and z,=1-j, use De Moivre’s theorem to evaluate:

3
Z ><72 ) )
Ll—} (Answer in exponential form) (5)
z
2
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20. Determine all the roots of the equation z* =2— j and express your answers
in rectangular form. (4)

TOTAL= 65 MARKS
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RE-DO ANY QUESTION YOU MAY CANCELLED ON THIS PAGE.



